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D Dispatcher

/[l R EHttpiEO, R[EHKHEEconnector T MAYIPFIR

func (s DispatcherServer) Route(g “gin.Engine) {
g9.GET("/v2/live-metadata”, s.liveMetadata)

}

/*
* 1. BENLIRE 47 1Ptk
* 2. (RIEE P in{s RIREIX N AY IPIMY K EY
%/
realTcpAddrs = allTcpAddrs
if len(allTcpAddrs) > 4 {
realTcpAddrs, err = util. Random(allTcpAddrs, 4)
iferr |=nil {
realTcpAddrs =
[Istring{allTcpAddrs[rand.Intn(len(allTcpAddrs))]}

}
}
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tcpConn
UserlID
RoomID

Connector

type Client struct {
mutex sync. RWMutex
/I The tcp connection.
tcpConn “net. TCPConn
/I The user info.
Userld int
Roomld string
roomType string

/I Store client by userld.
var hub *Hub

type Hub struct {

/l router is a array of 256 subRouter item
router []*subRouter

mutex “sync.RWMutex

}

type subRouter struct {

/lkey is userld, value is Client point
r  map[int]“Client

mutex “sync. RWMutex

}

/I Store client by roomid.
var tagMapList [][TagMap
type Tag struct {

users mapl[int]*Client
mutex *sync.RWMutex
roomKey string

}

type TagMap struct {
tags mapl[string]“Tag
mutex “sync. RWMutex

}
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Connector

conn, err := listener.AcceptTCP()
iferr 1= nil {
slf. Errorw("AcceptTCP", slf.Error(err))
continue
}
client := NewClient(conn)
go client.readPump()

func (c “Client) readPump() {
for {
// Read.
tcpData, err := c.dataPack.Unpack(c.tcpConn)
/l Handle message.

}
}

func (c *Client) write(data [Jbyte) error {
c.mutex.Lock()
defer c.mutex.Unlock()
if _, err := c.tcpConn.Write(data); err != nil {
return err
}

return nil
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service LiveRouterService {
rpc RegisterRouter(RegisterRouterRequest) returns (RouterReply) {} // connector ;E it
rpc UnregisterRouter(UnregisterRouterRequest) returns (RouterReply) {} /B EAHE 2

rpc GetConnlinfo(GetConnlnfoRequest) returns (GetConninfoReply) {} // 3JABUEIRER
rpc TransferUnicastMsg(TransferUnicastMsgRequest) returns(RouterReply) {} // B2 4%

rpc TransferMulticastMsg(TransferMulticastMsgRequest) returns(RouterReply) {} // 1%
rpc TransferBroadcastMsg(TransferBroadcastMsgRequest) returns(RouterReply) {} // T 5

for _, liveConnectorClient := range liveConnectors {
newCtx := tracing.PropagateContextWithServiceContext(ctx)
go func(ctx context.Context, connectorCli “rpcclient.LiveConnectorClient) {
defer commonutil. Recovery()
connectorCli. TransferMessage(ctx, convertMsg)
HnewCtx, liveConnectorClient)

}
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for _, client := range roomClients {

}

zo client.sendMessage(msg)

BB T RIESCEL

msgEventChan := make(chan MessageEvent, ChanSize)

func (h *"Hub) runSendMessage(poolSize int) {
fori:=0;i< poolSize; i++ {
go func() {
for event := range h.msgEventChan {
msg := event.message
event.client.sendMessage(msg, event.msginfo)

}
1)
}
}

for _, c:=range clients {
msgEventChan <- MessageEvent{client : ¢, message: msg }

}
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